	    0 + 1  = 1

	
	
	
	  
	          

	
[image: image1.wmf] 


	 
	 
	 
	 


	    1 + 1  = 2

	
	
	
	  
	          

	
	 [image: image2.png]



	 
	 
	 

	    2 + 1  = 3

	
	
	
	  
	          

	
	 
	 [image: image3.png]P .




	 
	 


	    3 + 1  = 4

	
	
	
	  
	          

	
	 
	 
	 [image: image4.png]aaaaaaaa




	 

	    4 + 1  = 5

	
	
	
	  
	          

	
	 
	 
	 
	 [image: image5.png]TA






	     5 + 1  = 6

	[image: image6.png]aaaaaaaaaaaaa




	
	
	
	

	
	
	
	
	

	    6 + 1  = 7

	
	[image: image7.png]



	
	
	

	
	
	
	
	


	    7 + 1  = 8

	
	
	[image: image8.png]



	  
	          

	
	 
	 
	 
	 

	    8 + 1  = 9

	
	
	
	 [image: image9.png]


  
	          

	
	 
	 
	 
	 


	    9 + 1  = 10

	
	
	
	
	[image: image10.png]o





	
	
	
	
	


_1035839627.doc
[image: image1.png]aaaaaaaaaaa







